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(1). ascospore vs. endospore

(2). microaerophile vs. facultative anaerobe

(3). thermal death time vs. decimal reduction time
(4). conjugation vs. transduction

(5). facilitated diffusion vs. simple diffusion

(6). Alexander Fleming vs. Louis Pasteur
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7. Exactly 2.0 x 10 ° bacteria with a generation time of 40 minutes are
introduced into 100 ml of fresh nutrient broth at 8:00 A.M. and maintained
at an optimum incubation temperature throughout the day. How many

bacteria are present at 4:00 P.M.? How many generations will take place by

6:00 P.M.? (10%)

8. Please describe /ac operon model, developed by Jacob and Monod, to
explain when E. coli is cultured in media containing glucose and lactose, the
utilization of lactose and synthesis of B-galactosidase are inhibited by
glucose. (10%)

9. Compare the cell wall of Gram (+) and Gram (-) bacteria = (6%)
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